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Time allowed for this paper
Reading time before commencing work: 	ten minutes
Working time for paper: 	three hours

Materials required/recommended for this paper
To be provided by the supervisor
This Question/Answer Booklet
Multiple-choice Answer Sheet

To be provided by the candidate
Standard items: 	pens (blue/black preferred), pencils (including coloured), sharpener,
	correction fluid/tape, eraser, ruler, highlighters
Special items: 	non-programmable calculators approved for use in the ATAR examinations
Important note to candidates
No other items may be taken into the examination room. It is your responsibility to ensure that you do not have any unauthorised material. If you have any unauthorised material with you, hand it to the supervisor before reading any further.


Structure of this paper

	Section
	Number of questions available
	Number of questions to be answered
	Suggested working time (minutes)
	Marks available
	Percentage of examination

	Section One:
Multiple-choice
	24
	24
	30
	24
	24

	Section Two:
Data interpretation / Short response
	3
	3
	70
	36
	36

	Section Three:
Extended response
	4
	2
	80
	40
	40

	
	
	
	
	Total:
	100




Instructions to candidates

1.	Answer the questions according to the following instructions.

Section One: Answer all questions on the separate Multiple-choice Answer Sheet provided. For each question shade the box to indicate your answer. Use only a blue or black pen to shade the boxes. If you make a mistake, place a cross through that square, then shade your new answer. Do not erase or use correction fluid/tape. Marks will not be deducted for incorrect answers. No marks will be given if more than one answer is completed for any question.

Section Two and Three:  Write your answers in this Question/Answer booklet.

2.	You must be careful to confine your responses to the specific questions asked and to follow any instructions that are specific to a particular question.

3.	Supplementary pages for the use of planning/continuing your answer to a question have been provided at the end of this Question/Answer booklet. If you use these pages to continue an answer, indicate at the original answer where the answer is continued, i.e. give the page number.
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[bookmark: OLE_LINK4][bookmark: OLE_LINK3]Section One:  Multiple Choice		         (24 Marks)

This section has 24 questions. Answer all questions on the separate Multiple-choice Sheet. 

For each question shade the box to indicate your answer. Use only a blue or black pen to shade the boxes. If you make a mistake, place a cross through that square, then shade your new answer. Do not erase or use correction fluid/tape. Marks will not be deducted for incorrect answers. No marks will be given if more than one answer is completed for any question. 

Suggested working time: 30 minutes.     
___________________________________________________________________

1. Which of the following correctly represents an economic effect of globalisation?
(a)	Increasing diversification within domestic markets.
(b)	Increasing financial regulation within domestic markets.
(c)	Decreasing costs of transportation.
(d)	Decreasing concerns over dumping activities.


2. Which of the following correctly represents an argument for trade liberalisation?
(a)	Increased growth in industries crucial for national defence.
(b)	Greater protection for low cost labour.
(c)	Increased access to cheaper goods and services.
(d)	Protection of industries that have high initial star-up costs.


3. Which of the following are within Australia’s top 5 exports?
(a)	Gold, iron ore and coal
(b)	Iron ore, coal and education-related travel services
(c)	Education-related travel services, iron ore and gold
(d)	Personal travel services, gold and crude petroleum


4. Which change might cause an increase in the Australian trade weighted index (TWI)?
(a)	A wheat crop failure in France leading to increased wheat imports from Australia.
(b)	A switch by US consumers from wine produced in Australia to wine produced in New Zealand.
(c)	A switch in the destination of Japanese tourists from Australia to Europe.
(d)	Decreased investment by Chinese residents in financial and real assets in Australia.



5. The table shows how much rice and wheat two countries, X and Y, can grow when each country divides its resources equally between growing rice and wheat. Assume that each country now specialises according to comparative advantage and trades with the other country.

	
	Country X
	Country Y

	Rice (units)
	900 million
	100 million

	Wheat (units)
	300 million
	50 million



Which terms of trade would benefit both countries?
(a)	1 wheat = 2 rice
(b)	1 wheat = 2.5 rice
(c)	1 wheat = 3 rice
(d)	1 wheat = 5 rice


6. The diagram shows the domestic and world demand and supply for a good.
[image: ]
The government imposes a tariff on imports of the good. What will happen to the quantity imported?
(a)	It will fall from OQ5 to OQ4.
(b)	It will fall from Q1Q3 to Q2Q3.
(c)	It will fall from Q1Q5 to Q2Q4.
(d)	It will fall from Q2Q5 to Q3Q4.




7. If a global contraction resulted in fewer tourists from other countries visiting Australia, how would this be recorded in Australia’s current account of the balance of payments?
(a)	a decrease in credits in the current account.
(b)	a decrease in debits in the current account.
(c)	a decrease in credits in the capital and financial account.
(d)	a decrease in debits in the capital and financial account.


8. How will a fall in Australia’s interest rate differential affect the Australian dollar (AUD)?
(a)	The AUD will depreciate due to a decrease in the terms of trade.
(b)	The AUD will appreciate due to an increase in foreign investment.
(c)	The AUD will appreciate due to an increase in capital outflow.
(d)	The AUD will depreciate due to a decrease in capital inflow.


9. An improvement in the commodity price index associated with a depreciation of the exchange rate could lead to which of the following outcomes:
(a)	an increase in imports due to increased income from the improvement in the terms of trade.
(b)	a decrease in foreign investment leading to an increase in the capital and financial account surplus.
(c)	an increase in the trade balance leading to a current account surplus.
(d)	an increase in royalties paid to the government, leading to a budget deficit.


10. The table shows indicators of a country’s economic performance over a two-year period.

	Year
	Exchange rate index
	Export price index
	Import price index
	Balance of goods and services ($)

	1
	90
	90
	110
	-20 million

	2
	110
	120
	130
	30 million



Which of the following is consistent with the above information?

(a)	There has been a fall in the price of exports.
(b)	There has been an increase in the quantity of imports.
(c)	There has been an improvement in the terms of trade.
(d)	There has been a movement of the current account balance into surplus.


11. Which of the following is a benefit of foreign investment?
(a)	It helps to meet the savings and investment gap in Australia.
(b)	It increases the foreign ownership of assets in Australia.
(c)	It increases the income receipts on the current account.
(d)	It is mostly denominated in foreign currency.
12. If foreign investment in Australia decreases and Australia’s overseas assets increases, then
(a)	Australia’s net foreign liabilities will increase and net income balance will decrease.
(b)	Australia’s net foreign liabilities will decrease and net income balance will decrease.
(c)	Australia’s net foreign liabilities will decrease and net income balance will increase.
(d)	Australia’s net foreign liabilities will increase and net income balance will increase.


13. Which of the following most accurately represents economic fluctuations during a business cycle?
(a) 	Economic Shock -> Multiplier effect -> Spending response by households and firms -> Change in real GDP 
(b)	Economic Shock -> Spending response by households and firms -> Multiplier effect -> Change in real GDP
(c)	Economic Shock -> Multiplier effect -> Change in real GDP -> Spending response by households and firms
(d)	Economic Shock -> Change in real GDP -> Spending response by households and firms -> Multiplier effect  

14. When is a recession said to occur?
(a) 	Economic growth in the economy falls for at least two consecutive quarters.
(b) 	The government experiences a budget deficit for at least two consecutive quarters.
(c) 	The unemployment rate rises for at least two consecutive quarters.
(d) 	Real Gross domestic product (GDP) falls for at least two consecutive quarters.


15. The effect of a fall in housing prices (ceteris paribus) would be to
(a)	shift the AS curve to the left.
(b)	shift the AS curve to the right.
(c)	shift the AD curve to the left.
(d)	shift the AD curve to the right.




16. Refer to the following model for this question.
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	An economy is at equilibrium at income level Y1. If the propensity to save decreases the new Aggregate Expenditure line with be ___________ and the new income level will be _____________.
(a)	AE1; Y1
(b)	AE1; Y2
(c)	AE3; Y3
(d)	AE2; Y2

17. [image: ]Refer to the Figure opposite. If a cyclone destroyed a large portion of the infrastructure along the east coast of Australia, this would cause the
(a) 	economy to move from Point B to Point C along AS1.
(b) 	economy to move from Point B to Point A along AS1.
(c) 	aggregate supply curve to shift from AS1 to AS2.
(d) 	aggregate supply curve to shift from AS1 to AS0.


18. Which one of the following policies is most likely to stimulate recovery for an economy that has been in recession for several years? 
(a) 	Increasing taxes to finance increased government expenditure. 
(b) 	Increasing government expenditure financed by increased government borrowing. 
(c) 	Supply side policies to increase productivity.
(d) 	 Decreasing interest rates to stimulate private spending.

19. A government has changed the method of financing its budget deficit. Instead of borrowing from the domestic private sector, it will now borrow from overseas. All other things being equal, what is the most likely impact of this change on the domestic economy?
(a) 	Domestic borrowing costs will increase
(b)	The foreign debt will decrease
(c)	The budget deficit will decrease
(d)	The current account deficit will increase


20. A government’s budget is balanced at a time when the economy is fully employed.  If an aggregate demand shock causes a decline in real GDP, what will be the result if the government keeps its tax rates and spending programs unchanged?
(a) 	a cyclical budget deficit
(b) 	a cyclical budget surplus
(c) 	a structural budget deficit
(d) 	a structural budget surplus


21. A country increases its labour productivity in the manufacturing industry.
What is least likely to result from this?
(a)	higher economic growth
(b) 	higher levels of exports of manufacturing
(c) 	lower wage rates in manufacturing 
(d) 	lower inflation


22. Most economists agree that ___________ are the single most important source of productivity improvements.  
[bookmark: _GoBack](a) 	increases in immigration 
(b) 	technological advances 
(c) 	discoveries of natural resources 
(d) 	increases in physical capital


23. Which of the following will not cause structural change in an economy?
(a)	Government spending on National Broadband Network.
(b)	Increase in trade openness as a result of free trade agreements.
(c)	An increase in interest rates (cash rate) in the economy.
(d)	Increase in global supply chains. 



24. An increase in economic growth in a country is likely to 
(a)	increase per capita incomes which leads to a change in preferences and hence causes structural change.
(b)	increase demand for and supply of resources and hence will lead to lower inflation rates.
(c)	lead to a balanced growth of all sectors of the economy.
(d)	cause a transition from a service dominated economy to a manufacturing dominated economy.

End of Section One


Section Two: Data interpretation/Short response 		         (36 Marks)
This section contains three (3) questions. Answer all questions. Write your answers in the spaces provided.

Supplementary pages for the use of planning/continuing your answer to a question have been provided at the end of this Question/Answer booklet. If you use these pages to continue an answer, indicate at the original answer where the answer is continued, i.e. give the page number.

Suggested working time: 70 minutes.
__________________________________________________________________

Question 25 	(12 marks)

Australia’s trade balance and commodity price index

[image: ]
	
(a)
	
(i) Define commodity price index.                                                        ( 1 mark )

	
	

	
	

	
	



	
	(ii) Identify the impact of the change in commodity prices from June 2017 to June 2019 on Australia’s terms of trade.                                         ( 1 mark )

	 
	

	
	



	(b)
	Explain possible reasons for the change in Australia’s trade balance from June 2018 to June 2019.                                                                               ( 4 marks )

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	





	(c)
	Explain the impact of the movement in commodity price index from June 2017 to June 2019 on consumers, producers and the budget outcome.       ( 6 marks )

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	




Question 26									         (12 marks)

Australian Economy - Gross domestic product, Volume measures: Seasonally adjusted

[image: Diagram shows GROSS DOMESTIC PRODUCT, Volume measures: Seasonally adjusted]

	(a)
	Identify the year in which the annual economic growth rate peaked.
	( 1 mark )

	
	



	(b)
	Discuss one possible reason for the change in economic growth from March 2018 to March 2019.                                                                                                  ( 2 marks )

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	





	(c)
	Discuss why the Aggregate Demand curve has a negative slope.                 ( 3 marks )

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	






	(d)
	Investment has decreased by $50 billion. Using an appropriate model, demonstrate and explain the impact of this change on the macroeconomy.                                ( 6 marks )

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	




Question 27									         (12 marks)

Statement by the Governor, RBA: Monetary Policy Decision

July 2, 2019
At its meeting today, the Board decided to lower the cash rate by 25 basis points to 1.00 per cent. This follows a similar reduction at the Board's June meeting. This easing of monetary policy will support employment growth and provide greater confidence that inflation will be consistent with the medium-term target.
The outlook for the global economy remains reasonable. However, the uncertainty generated by the trade and technology disputes is affecting investment and means that the risks to the global economy are tilted to the downside. The slowdown in global trade has contributed to slower growth in Asia. In China, the authorities have taken steps to support the economy, while continuing to address risks in the financial system.
Borrowing rates for both businesses and households are at historically low levels. The Australian dollar is at the low end of its narrow range of recent times.
Over the year to the March quarter, the Australian economy grew at a below-trend 1.8 per cent. Consumption growth has been subdued, weighed down by a protracted period of low income growth and declining housing prices. Increased investment in infrastructure is providing an offset and a pick-up in activity in the resources sector is expected, partly in response to an increase in the prices of Australia's exports.
Inflation pressures remain subdued across much of the economy. Inflation is still, however, anticipated to pick up, and will be boosted in the June quarter by increases in petrol prices.
Conditions in most housing markets remain soft, although there are some tentative signs that prices are now stabilising in Sydney and Melbourne. 

Today's decision to lower the cash rate will help make further inroads into the spare capacity in the economy. It will assist with faster progress in reducing unemployment and achieve more assured progress towards the inflation target. The Board will continue to monitor developments in the labour market closely and adjust monetary policy if needed to support sustainable growth in the economy and the achievement of the inflation target over time.

	(a)
	(i) Identify the current cash rate. 
	( 1 mark )

	
	



	
	(ii)  Identify a risk to investment that is mentioned in the statement.
	( 1 mark )

	
	

	
	

	
	



	(b)
	Explain why a reduction in the cash rate may not lead to the expected effects in the current economic climate.                                                                   ( 4 marks )

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	





	(c)
	Explain how the reduction in the cash rate will lead to increased economic activity through three channels of the transmission mechanism.                         ( 6 marks )

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	



End of Section Two

Section Three: Extended response 	           (40 Marks)

This section contains four (4) questions.  Answer two (2) question. Write your answer in the pages following and number your answers clearly.

Suggested working time: 80 minutes.

Question 28	    (20 marks)       

(a) Explain the determinants of international competitiveness. 	(8 marks)

(b) Australia signed a free trade agreement with Indonesia in March this year. Explain the economic arguments for trade liberalisation in Australia. 	(12 marks)


Question 29	    (20 marks)

(a) Define foreign direct investment and foreign debt, and discuss the recent trends in Australia’s FDI and foreign debt.	(8 marks)

(b) Explain the relationship between foreign debt and the balance of payments and discuss whether Australia should be concerned about its level of foreign debt. 	(12 marks)


Question 30	    (20 marks) 

The Australian dollar has been within 10 basis points of its decade low of 67.41 US cents, set on January 3 this year.
 
(a) Demonstrate and explain the possible causes of a fall in the Australian exchange rate. 			(8 marks)

(b) It has been said that the falling Australian dollar will provide some support for the Australian economy. Evaluate the economic validity of this claim with reference to the different sectors of the economy and the macroeconomy. 	(12 marks)


Question 31	    (20 marks)

Describe the current state of the Australian economy and using an appropriate model, explain
how contemporary macroeconomic policy is being used to help achieve the macroeconomic
policy objectives.
_________________________________________________________________________
End of Questions
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